CITIZEN

Service Manual

Model : CBM-910

Rev. Issued

Japan CBM Corporation
Information Systems Div.



CBM-910 Service Manual

Contents
1. HOW 1O reMOVE thE UPPES COVEN......c.eitiitiieriete ettt ettt sttt bbbt bbb e bbbt bbbt 3
2. How to remove the Printer MEChaNISM ..ot 3
3. HOw t0 remove the CONLrol BOAIT ..........coiieciiiiiiieierie ettt sbe b s sbesbe b 4
4. HOW t0 remove the Paper HOIOEY ..ottt bbb bbb et 4
5. HOW t0 remove the Operation PanEl...........ccoiiieiieie ittt st sbesse e e e resneeneeeenre e 5
6. HOW t0 remoVve the Paper HOOK ..........cccieeiiiiieciese ettt st st st e e besneeneesbennesneeneenrenns 5
7. Parts List : EXploded View CBM-=-910.........cccciiiriiririeiniee sttt st ssese s sb bbbt se bbb b seen 6
8. EXPlOded VIEW : CBIM-O10.......ccuiiiieiiiiesiesieeeie sttt sttt b bbbt b e bt b e s b b e e s e eb e s b s b et ebesbe s be b eneebesbesbennas 7
9. OP Panel Parts Position : CBM-910-PH/RF ............coiiiiiieitt st sre e 9
10. OP Assy Schematic Diagram : CBM-910-PF/RF..........c.ccoiiiriiiiiieire st seens 10
11. PartsList : Control Board ASSy CBM-910-RF..........ccccceriiiiiiiere s seeee et sreeae s te e see e sreesee e sressesneessesseas 11
12. Parts POSItiON : CBM=-O10-RF..........ccooiiiiiiiie ettt et sb e b se et b e b bbbt b e e sbesbe e 14
13. Parts List : Control Board Assy CBM-910-PF ..o 15
14. PartS POSITION : CBM-OL0-PF.........c.cciiiiiiiiieie ettt bbb et sb e bbbt b b eebe b b e e eneebesbesbenes 18
15. Schematic Diagram CBM-910-RF ..o bbb bbb 19
16. Schematic Diagram CBM-=-910-PF..........coiriiiiieese ettt st st st se st b seeseneesbeseenes 20

CITIZEN 2



CBM-910 Service Manual

1. How to remove the Upper Cover

(1) Unfasten 2 screws M3x8 on the Bottom Cover.

(2) Lift the Upper Cover in the arrow direction removal.

(3) Unfasten 2 screw, The Printer Mechanism mounting screw, Then remove the Shield Plate from
the Printer Mechanism.

(4) Disconnect the 2 Connectors from the Control Board.

Connector

2. How to remove the Printer Mechanism

(1) Remove the Upper Cover.
(2) Unfasten 4 screws M2.6x8 and M 2x6 as shown bel ow.
(3) Lift the Printer Mechanism in the arrow direction.

Printer Mechanism

CITIZEN 3



CBM-910 Service Manual

3. How to remove the Control Board

(1) Remove the Upper Cover.

(2) Unfasten 2 screws M 3x8 as shown below.

(3) Shift the Control Board in the arrow direction (1).

(4) Shift the Control Board in the arrow direction (2). and remove the Power Switch from the Bottom Cover.
Then lift in the arrow direction (3).
Remove the shield Plate together with the Control Board.

Power Switch
Shield Plate

4. How to remove the Paper Holder

(1) Remove the Printer Cover.
(2) Unfasten a screw as shown below.

Paper Holder

CITIZEN 4



CBM-910 Service Manual

5. How to remove the Operation Panel

(1) Remove the upper Cover.
(2) Unfasten 2 screws M2.6x6 as shown below.

Operation Panel Unit

6. How to remove the Paper Hook

(1) Remove the Printer Cover.

(2) Release alLock Hook as shown below and lift the Paper Hook to the upside.

(3) When you set this Lock Hook, set the side of Hook to the Upper Cover. and according to the guide,
inset the Lock Hook until thisislocked completely.

Upper Cover
' Paper Hook

Lock Hook

Bottom Cover
' A7

CITIZEN 5




CBM-910 Service Manual

7. Parts List : Exploded View CBM-910

PARTSLIST CBM910-PF/ -RF
EXPLODED VIEW
Ref. No. Parts No. Description Qty
1 E 62010670 |Top Case 1
2 E 5200-220 OP Sheet 1
3 MD910 Printer MD910 <1>
MD911 Printer MD911 <1>
4 E 4000-850 OP assy 1
6 E 4000-990 PE assy 1
11 E 6611-405 Paper Hook 1
15 E 62020140 |Bottom Case 1
16 E 6302-290 Foot 2
18 E 4035-720 Scheild Plate 1
19 E 4035-730 Ground Sheet 1
20 E 70010700 |PCB assy CBM910-PF <1>
E 70010710 PCB assy CBM910-RF <1>
E 70010711 PCB assy CBM910-RF-UL <1>
24 E 62040170 Printer Cover 1
25 E 62040180 Printer Cover -H <1>
34 76G23760 Screw M2x6 1
35 76G22839 Screw M2.6x8 2
37 76G40207 Screw M3x10 2

CITIZEN



CBM-910 Service Manual

8. Exploded View : CBM-910

CITIZEN



CBM-910 Service Manual

PARTSLIST CBM-910-PF/ -RF
OP ASSY

Ref. No. Parts No. Description Q'ty
LED 1,2 E 480-290 LED SEL2310E 2
SW1,2 E5102-430 [SWITCH SKHHAN 2

CITIZEN 8



CBM-910 Service Manual

9. OP Panél Parts Position : CBM-910-PF/RF

SEC-1499
MAX8.5
: E 480-290 B
310-03 SEL2310E
LED1
LED2,q
Brown \—— & L E5102-430 (HZ B
Red — SKHHAN — B
Orange | : :
Yellow 9.; L L
Green
Blue SWZ/
[7e] §W1 —e=] R
O i
AG294V-0 2
MAXS.5
THIRD | TREATMENT MATERAL T-
C:ﬁLE N - . PARTS POSITION e
: CBM910-FP/RF
S e e (3110-03)
s SCALE CHECKD |DESIGNED |DRAWN PARTS No.
Jopan CBM Corporation| 5,4 .. ' ...

CITIZEN 9



CBM-910 Service Manual

10. OP Assy Schematic Diagram : CBM-910-PF/RF

1 ] 2 | | i 4 1 5 [ (] | 7
1R
2| SEG-1498
A o A
B B
c c
D D
| ! —
E E
F F
G G
H H
- B
|
TREATMENT MATERIAL - t=
.| #= | MARK'| DATE [:  REVISION . REV. No.
TOLERANCE . MODEL QTY T '
DIMENSION | ANGLE OP ASSY
SCHEMATIC DIAGRAM
SCALE UNITiMh APPROVED | CHECKED | DESIGNED | DRAWN CBM910-PF/RF
neh L ) L . (3110-203)
THIRD ANGLE

CITIZEN 10



11. Parts List : Control Board Assy CBM-910-RF

PARTSLIST CBM-910-RF
CONTROL BOARD ASSY (910-01)
Ref. No. Parts No. Description Qty
IC 1 E 107-250 CPU UPD78C10AGF-3BE 1
2 E 107-260 EP-ROM  M27C256-15F1 1
3 E 107-210 S-RAM LC3664L-10/ 12 1
4 E 201-930 C-MOS TC74HC373P 1
5,6 E 2010130 C-MOS TC74HC04P 2
7 E 2010100 C-MOS TC74HCOOP 1
8 E 202-910 Reset IC PST520F 1
9 E 2010040 I/F IC MAX232CPE 1
TA 1,2 E 390-413 Tr.  Array STA-413A 2
TR1,5,7 E 359-278 Tr. 2SC2785HF 7
11,12,16| (E 359-090) (2SC1740SR)
17
2,13 E 379-060 Tr. 2SD1802ST 2
3,10 E 319-117 Tr. 2SA1175HF 2
(E 319-090) (2SA9335)
4 E 327-070 Tr. 2SB1202ST 1
6 E 379-070 Tr. 2sD1817 1
15 E 359-100 Tr. 2SC4685 1
D 1,2 E 400-220 Diode 1S1554 2
4,6 E 400-270 Diode 151588 2
5 E 400-110 Diode G2B 1
ZD 1 E 413-033 Z.Diode RD13EB2 1
2,3 E 405-130 Z.Diode RD5.6EB2 2
(MTZT-72-5.6B)
osC 1 E 501-340 OSC CSA11.0MTZz020 1
(11.0592MHz)
R1,3 4,6/ E3103-041 [Re 1/4W 10K J 10
14,21, 22
25, 26, 28
24,27
2,57 E3471-041 |Re. 1/4W 470 J 5
24,31
8,13,18| E3331-041 |Re 1/4W 330 J 4
19

CITIZEN

11

CBM-910 Service Manual




CBM-910 Service Manual

PARTSLIST CBM-910-RF
CONTROL BOARD ASSY (910-01)
Ref. No. Parts No. Description Qty
R 9,17 E3102-041 |Re 1/4W K J 2
10,27,30] E3332-041 [Re 1/4W 33K J 3
15,16,29] E3473-041 (Re. 1/4W 47K J 3
20 E3472-041 |Re 1/4W 47K J 1
23| E3152-041 |Re 1/4W 15K J 1
C 1 E2010-150 |El. Cap. 50JS-1uF 1
11,13,15] E2010-605 |El. Cap. 25JS-10uF 6
20,21, 22
12,14 E2022-870 |El. Cap. 25JS-22uF 2
18,19| E2047-520 |El. Cap. 25JS-4.7uF 2
C 2,35 E2110-040 (C. Cap. F26Y5R1H102M0 4
16
6,7 E2130-010 |C. Cap. F26SL 1H300KO0 2
8,9,100 EZ2147-160 |[C. Cap. F26SL 1H471K0 7
17,29, 30
31
23,24,25 E?2110-845 |[C. Cap. RPE132F104225 6
26, 27, 28
RA 1,5 E3500-040 |Re. Array M9-1-103J 2
2,3 E3681-050 |Re Array M8-3-681J 2
4 E3500-090 |Re Array M7-1-103] 1
DS 1 E5103-350 |[Dip SW. KSD-8 1
CN 1 E 48000490 |Connector MOJD14 1
2| E4800-925 |Connector 5267-17A-X 1
3| E48000480 |[Connector 17LF13250-27 (D3AB) 1
for EUR.
E 48000485 |[Connector 17LE13250-27 (D3CB) 1
for USA
4 E 48000650 |Connector 5267-06A-X 1
6| E4800-950 |Connector 5267-03A-X 1
F 1 E 4005-590 |Fuse 5ST2A 1
E 4006-220 |FuseHolder = UF-0033#01 2
L 1] EA4009-380 |OSCcoil SC-03-05GS 1
CITIZEN 12



CBM-910 Service Manual

PARTSLIST CBM-910-RF
CONTROL BOARD ASSY (910-01)
Ref. No. Parts No. Description Qty
sw 1 E5105-330 |[Slide SW. SN-20202-1218 1
76G42141 Screw M3x8 (B-567) 2
(for Tr. Heat sink)
76G30113 Screw M3x8 (B-506) 2
(for Connector) 2
E 4010-410  [Heat sink 50-0079 1
PARTSLIST CBM-910-RF
CONTROL BOARD ASSY, Paper Winder (Option)
Ref. No. Parts No. Description Qty
TR 8 E 359-278 Transistor 2SC2785HF 1
9 E 379-060 Transistor 2SD1802ST 1
D 3 E 400-220 Diode 151554 1
C 4| E2010-150 |EI. Cap. 50JS-1uF 1
R 11 E3103-041 |Re. 1/4W 10K J 1
12| E3471-041 |[Re. 1/4W 470 J 1
CN 5 E 4800-940 |Connector 5267-02A-X 1
CITIZEN 13



(10-016)
d4-016R4D
NOILISOd SLyvd

£0L0 768 | 010’78

uojjpiodiod g9 uodor

CBM-910 Service Manual

G590-03S€

£110899L

11

]

17LE-13250-27(D3A8) (JPNEUR

17LE-13250-27(D3CB) (USA)

TR —g
-

o i O

. 50 TS
( 0K )

%

sﬁ@a

0L6-W82 wss_ NOSNING
13004 EXLER]Y ELcY
w1y
WHILYH] INALYR4L mﬁmfa
0-AvBSSEY % 2\«“ mzu + E
O N s—
355

14

5267-17A

o LEE m sn ::____________u %s
—] — — el
et BT e B :
0 O = = 5 |3 H
g 2e— —ks 2 & mm
0 me.. M & g113l%
8 @~ @ﬁu — B
®)p B: B T [ 5 *LC
.m ol s 1T
B a1 ||
g T |ls8 | 1
B £
f 1 310
0L
CaaD®
/C2795\[ 200 |21
Al..ﬁ“ s
38 i

T0T¥- Eovm W

1712749

022-90074

12. Parts Position : CBM-910-RF

CITIZEN



13. Parts List : Control Board Assy CBM-910-PF

PARTSLIST CBM-910-PF
CONTROL BOARD ASSY (910-02)
Ref. No. Parts No. Description Qty
IC 1 E 107-250 CPU UPD78C10AGF-3BE 1
2 E 107-260 EP-ROM  M27C256B-15F1 1
3 E 107-210 S-RAM LC3664L-10/ 12 1
4,11 E 201-930 C-MOS TC74HC373P 2
5,6 E 2010130 C-MOS TC74HC04P 2
7 E 2010100 C-MOS TC74HCOOP 1
8 E 202-910 Reset IC PST520F 1
9 E 2010321 C-MOS TC74HC74P 1
10 E 202-811 TTL 7404 1
TA 1,2 E 390-413 Tr.  Array STA-413A 2
TR 1,57 E 359-278 Tr. 2SC2785HF 5
11,12 (E 359-090) (2SC1740SR)
2,13 E 379-060 Tr. 2SD1802ST 2
3,10 E 319-117 Tr. 2SA1175HF 2
(E 319-090) (2SA9335)
4 E 327-070 Tr. 2SB1202ST 1
6 E 379-070 Tr. 2sD1817 1
15 E 359-100 Tr. 2SC4685 1
D 1,2 E 400-220 Diode 1S1554 2
4,6 E 400-270 Diode 151588 2
5 E 400-110 Diode G2B 1
ZD 1 E 413-033 Z.Diode RD13EB2 1
2,3 E 405-130 Z.Diode RD5.6EB2 2
(MTZT-72-5.6B)
OosC 1 E 501-340 OsC CSA11.0MTZ020 1
(11.0592MHz)
R1,34,6 E3103-041 [Re. 1/4W 10K J 8
14,21, 22
26
2,57 E3471-041 |Re. 1/4W 470 J 5
24,27
8,13,18] E3331-041 |[Re. 1/4W 330 J 4
19
9,17] E3102-041 |Re. 1/4W 1K J 2
100 E3332-041 ([Re. 1/4W 13K J 1
CITIZEN 15

CBM-910 Service Manual




CBM-910 Service Manual

PARTSLIST CBM-910-PF
CONTROL BOARD ASSY (910-02)
Ref. No. Parts No. Description Qty
R1516,29] E3473-041 |Re 1/4W 47K J 3
20| E3472-041 |Re 1/4W 47K J 1
23| E3152-041 |Re 1/4W 15K J 1
C 1 E2010-150 |El. Cap. 50JS-1uF 1
11,13,15] E2010-605 |El. Cap. 25JS-10uF 3
12,14 E2022-870 |El. Cap. 25JS-22uF 2
C 2,35 E2110-040 (C. Cap. F26Y5R1H102M0 5
17,18
6,7 E2130-010 |C. Cap. F26SL 1H300KO0 2
8,9,100 EZ2147-160 |[C. Cap. F26SL 1H471K0 7
16, 25, 25
27
19,20,21] E?2110-845 |[C. Cap. RPE132F104225 6
22,23, 24
RA 1 E3500-040 |Re. Array M9-1-103J 1
2,3 E3681-050 |Re Array M8-3-681J 2
4 E3500-090 |Re Array M7-1-103] 1
5| E3500-050 |Re. Array M5-1-103J 1
6| E3500-080 |Re Array M9-1-332J 1
7| E3500-100 |Re. Array M7-1-332J 1
8,9 E3500-110 |Re Array M8-3-472] 2
DS 1 E5103-470 |Dip SW. KSD-4 1
CN 1 E 48000490 |Connector MOJD14 1
2| E4800-925 |Connector 5267-17A-X 1
3| E 48000680 |Connector 57LE-40360-730B 1
(D12)
4 E 48000650 |Connector 5267-06A-X 1
5| E4800-950 |Connector 5267-03A-X 1
F 1| E4005-590 |Fuse 5ST2A 1
E 4006-220 |FuseHolder = UF-0033#01 2
L 1] E4009-380 |OSC cail SC-03-05GS 1
SW 1 E5105-330 |Slide SW. SN-20202-1218 1

CITIZEN

16



CBM-910 Service Manual

PARTSLIST CBM-910-PF
CONTROL BOARD ASSY (910-02)
Ref. No. Parts No. Description Qty
76G42141 Screw M3x8 (B-567) 2
(for Tr. Heat sink)
76G30113 Screw M3x8 (B-506) 2
(for Connector) 2
E 4010-410  |Heat sink 1
PARTSLIST CBM-910-PF
CONTROL BOARD ASSY, Paper Winder (Option)
Ref. No. Parts No. Description Qty
TR 8 E 359-278 Transistor 2SC2785HF 1
9 E 379-060 Transistor 2SD1802ST 1
D 3 E 400-220 Diode 151554 1
C 4 E 2010-150 |El. Cap. 50JS-1uF 1
R 11| E3103-041 [Re 1/4wW 10K J 1
12 E3471-041 [Re 1/4wW 470 J 1
CN 5 E 4800-940 Connector 5267-02A-X 1
CITIZEN 17



CBM-910 Service Manual

14. Parts Position : CBM-910-PF

(20-016)
4d-016K4D
NOILISOd SLyvd

£01076 | (01078 § L0078,
e | e | a | uogpiodio) WgQ uodor
NAVI0| O3NOS3A| TEAGSY
3] 0L6-W8D Fow NOISNING)
ALO Rt 0l ELCERTY IS
ww [N
"t MRV wvanwvai| T,

W

£590-03s¢ |2l

g110899L

S7LE-40360-7308(D12) |
—-- —-- B T
) ; 4.7Ko-4(mam

By

NN
23

NO.Q_.m

E:________:___

0LOQL

T -

w

T

e T

@90

@M

&Wﬁé % 2@:@%‘%%

/C2785\

"

(18 g (%)
— B0 o
# :
i | |8
iy J 8
jl .

m@.

[T oooasimm ][] eovosinsm

SI’M‘BA

8
I 5267-06A

0T%-010¥%4 _MM

1¥18¥99L

022-900%4

18

CITIZEN



CBM-910 Service Manual

15. Schematic Diagram CBM-910-RF

PCE

. Vee
c22 i
11 Ic2
o e Ve 4PD78C10AGF 270256 (Voo28
TR P s oD B, (e
Ve ® R28 4 -
L7 e 0K § e P vee .
ce * G2y 3 P8 x1 |2 cs A A
47w mnu.o< cat b»,m‘_ 3op Hi ot
+104 x2 2T 411 c7 cn
1C9 MAX232 .ﬁu £ N Vec 30P 3 W oo oo“wml
—_— 1 A3 i
lllNJ s W mmm J vee < 8 3 TREL:
-t ] WA— RI6 47K 3 m m
2 1% _dq1 1| peg WAV R17 K 44 2
3 N 2 B—— o £ SR
A PC1 4 = di:
20 7 2q0 47| prg PDI 0D a 26] 2727
vee 17 Ve mumﬂ 7 :
30 R2E C2785 T " s
——] Vee 1 RST it cs
Vel @ e o7 ‘0
30 T oy ) 4 ag
R v%muo_nH A A 21 74HC373 T
RAZ 10K-8
J— m%»w_g T 680-4 Q_MVMOQ\.N e m
8 g2 Lo 2 1 Ewe 2 gol o0 5
7 5 5 3k 245 $ P2 g 35
9 7 5B NG e LI I Ve
s ] 8 LI 1 W5 g , VOO
AR
W8 53

PC2

AN1

2
3
4
5
w 628 104 (x®
INT1 H N
10K-8 T Tr
e B s Pes
MATERAL Ta
nxayv MARK DATE REVISION REVNa.
me. [WOEL oTY ==
o i S B B SCHEMATIC DIAGRA
) CBM C STALE Jmnm\as DESIGNED CBM910-RF
lapan orporation A R -
pa P 21 e (910-01)

19

CITIZEN



CBM-910 Service Manual

16. Schematic Diagram CBM-910-PF

20

12 €3 1
(3 Ie1C #PD78CIDAGF ) X X
& 74HC373 ez SSeass  (Vece28 ﬁwv!m
2 8o a2 11 Pgo 2 cs “igs T oND=14 -
om 3 3 8 3 " mA_ 1 Py gee 1cs _owm» Am_m_w.wm
%N % 7 1% S s, w2 |28 = o7 Vee 62
03 S z Z g &l 3 30p 90 e} 0 -
5 5 17 3 72 Vee 1 21 mTvnF
mm Z 2 : : gl s v R a3 "% 3
Dg : =T (IR i % A B § ooh, 5 ool
o7 A R 3% M £ o A 4K § i 8 Imn
4.wﬁ_ # RAQ 4 7K-4 o0 2208 3P 7 8
ausy 1 W ¢ 10 A: :@ 13 Aves whﬂmwww m w mo
27 : Rel« STP Voen20 m 3 9 o FrE
s 1 0O ATOK g n s INTA R17 K (oNeto E m [S2ro9R
: A vom 4 D o oS 28] mm_q
0 PV 3 (T0F 1 a5 RATR XKD et ]
' TN vee 4
_ : FF6
il sz 5 opy s Ty 22| ey mﬁ
sl Ve =cBe 9 e o L
PEE ¢z 1 T2  7dic7s g =T
e 7 0z ic8 RA1 A5 T
L= TA1 PSTS2F o5 | 10K-8 z
STA413A 2 Raz  TiMCod M £
peui A5 1 L 22200 L U PAO v
7 -1 3 4
1 c
9 z 5,08 , Voo g
v mﬂ
8 - 9 7 8 3 AV
TA2 —
5 STALI3A 4 __Ti0
SLE 2 5 ot : nﬂ, Vi CN4
LF ” 5 Loz c7 L L oz T o i =
SIL 6 <GP 8 R26 yeo 471 “n T 471 RAL 06 = | Vec
o R o g ) g 10K, RS v (10K8) aa@%\m?wi ARLE ©
3 V¢ pr = 7 Spes o0 T 330 8
Vor | = 151554 ¥Yp ¥10 Ty Ver Ra4 Pee P LNE LD ©
6ND l..Lqu 1!l._m ey 18 s2gs — L 4 LNE S¥ S
~—- PF 0L Pz 12 8940 ——tl] S W
veg 1015 ~ CI0 68 = 0
a2 P8 g 2Fuses IR a0 RITT =] o0 7
5 a0 PMWe 24 ™
3 W3 3. : [
la2 W2 o —
o 4 4o
i I 74HC00 : [ ~
op T 3 DA ®es
RS K c2 Tr7 3 PCS 6
ANO 7 |8
> ClL c12 T2 T
22u 324 c278s  c2785
1 s ™HRD
M \Oa._u,mu MD.\. PNOLE TREATMENT MATERAL T=
mwo )%w. UNIT rmm Mark| DaTE REVISIN | REV Na [DRAW
ONM ._Sw SCALE TOLERANCE MODEL oTY T
CBM-910 (W]
! SCHEMATIC DIAGRAM
X DESGNED | DRAWN 1 wam_anmvm,
an CBM Corporation | M
Jap P 1920220931022 {92012¢ [ (810-02)

CITIZEN



	Title
	Contents
	1. How to remove the Upper Cover
	2. How to remove the Printer Mechanism
	3. How to remove the Control Board
	4. How to remove the Paper Holder
	5. How to remove the Operation Panel
	6. How to remove the Paper Hook
	7. Parts List : Exploded View CBM-910
	8. Exloded View : CBM-910
	9. OP Panel Parts Position : CBM-910-PF/RF
	10. OP Assy Schematic Diagram : CBM-910-PF/RF
	11. Parts List : Control Board Assy CBM-910-RF
	12. Parts Posiotion : CBM-910-RF
	13. Parts List : Control Board Assy CBM-910-PF
	14. Parts Position : CBM-910-PF
	15. Schematic Diagram CBM-910-RF
	16. Schematic Diagram CBM-910-PF

